
The Pyramid Shock Shield is simple to fit. Attach the rubber flap to the Bracket using the M5 X 
10mm Stainless Bolts, M5 Stainless Nyloc Nuts & M5 Washers.

Remove the nut cap and nut from the side of the alternator regulator (see Fig 1). Refit the nut 
and nut cap with the Pyramid Shock Shield incorperated.

On the left-hand side of the bike, use the M6 X 12mm Stainless Bolt to attach the other end of 
the Pyramid Shock Shield (see Fig 2).

Check fixings periodically.

Kit Includes:
1X
1X
2X
1X
2X
2X2X

C24444
CFK24444
CBOLM50002
CBOLM60007
CNUTM50002
CWASM50001

Rubber Flap
Bracket
M5 X 10mm Stainless Bolt
M6 X 12mm Stainless Bolt
M5 Stainless Nyloc Nut
M5 Washer

24444 BMW F900R & F900XR Shock Shield Fitting Instructions

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

Follow us on social media and 
feel free to leave us a review!

Fig 1

Fig 2


